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Group – A 

(Answer any one question) 
 

1. a) Find the signed distance of the point (2,3,4) from the plane x y 2z 3 0    . [4] 

 b) If the sum of the reciprocals of intercepts of a variable plane on the coordinate axes be a constant 

k( 0)  then show that all such planes always pass through a fixed point in space. [3] 
 

2. Find the shortest distance between the lines 
x 3 y 8 z 3
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x 3 y 7 z 6
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equations of the line of shortest distance. [5+2] 

  
 

Group – B 
 

3. Answer any two questions : [2×4]  

 a) Solve graphically the given L.P.P 

  Min Z = 
1 22x 3x  

  subject to 
1 25x 9x 45   

    
1 22x 3x 6   

    
2x 4  

  and  
1 2x , x 0  [4] 

 

 b) Define basic solution of a system of linear equations. Prove that the set of all feasible solutions of 

an L.P.P is a convex set. [1+3] 
 

 c) Reduce the feasible solution (2,4,1) of the system of equations 
1 2 32x x 2x 2   , 

1 2x 4x 18   to 

a basic feasible solution. [4] 
 

4. Answer any one : 

 a) Obtain an initial basic feasible solution, of the given transportation problem by Vogel's 

approximation method. [5] 

 
 

   

 D1 D2 D3 D4 a1 

O1 19 30 50 10 7 

O2 70 30 40 60 9 

O3 40 8 70 20 18 

bj 5 8 7 14 34 

 
 

 b) Find an initial basic feasible solution of the following transportation problem using Vogel's 

approximation method. [5] 
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 A B C a1 

F1 10 9 8 8 

F2 10 7 10 7 

F3 11 9 7 9 

F4 12 14 10 4 

bj 10 10 8 28 
 
 

5. Answer any one : 

 a) Use the following table to compute f(0·02) : 

  x : 0·0 0·1 0·2 0·3 0·4 

  f(x) : 1·0000 1·1052 1·2214 1·3499 1·4918 [5] 
 

 b) From the data in the following table find f(102) : 

  x : 93·0 96·2 100·0 104·2 108·7 

  f(x) : 11·38 12·80 14·70 17·07 19·91  
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